Glue with
(2) WEICONLOCK
AN 302-43

ALL
OSSESSES DI;EGCTevF;k \\\\\\ ? OOOOOOOOOO S heet 1/2 -
Plan No.
BRAKE T30 V500 LIGHT e ———
Scale: 2:5 Drafted Verified Confirmed \\\V/’/
Date 13/02/2023 13/02/2023 13/02/2023 VE‘REN
Initials sD SD PJ JOOO




Material
No. Plan Article Qty
1 Y016713 1735454 1
2 Y016715 1735554 1
3 Y020193 1794054 2
4 X002134 1992411 2
5 X002139 1992426 2
6 X002140 1992427 2
7 X002141 1992435 2
8 X002165 1488399 4
9 X004801 1746099 2
10 X005276 1793900 4
11 X005305 1910032 1
12 X005306 1910033 1
13 X005417 2008099 2
14 X005418 2008199 2
15 XC00002 1C09799 2
16 XC00010 1C09899 2
17 M6x30 DIN912 1915911 4
18 M6x12 DIN912 2994005 2
19 M6x25 ISO7380 2994062 2
20 M6x30 ISO7380 2994129 2
21 M6 DIN127 3992916 2
Plan No.
BRAKE T30 V500 LIGHT Fo0052500A T
Scale: 2:5 Drafted Verified Confirmed \\\V/’/
Date 13/02/2023 13/02/2023 13/02/2023
Initials sD sD PJ Q09




